
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1007 × 0.001 = ________ 9827.7 × 0.001 = ________

4158.5 × 0.0001 = ________ 8736.8 × 0.0001 = ________

1582.5 × 0.0001 = ________ 4950.1 × 0.1 = ________

3848.4 × 0.001 = ________ 7805.3 × 0.001 = ________

8119.3 × 0.0001 = ________ 2551.2 × 0.1 = ________

2061.2 × 0.0001 = ________ 9394.2 × 0.0001 = ________

6196.1 × 0.0001 = ________ 7201.5 × 0.1 = ________

5315.5 × 0.1 = ________ 2226 × 0.01 = ________

7380.9 × 0.1 = ________ 5430.7 × 0.01 = ________

8979.2 × 0.1 = ________ 2278.8 × 0.0001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1007 × 0.001 = 1.007 9827.7 × 0.001 = 9.8277

4158.5 × 0.0001 = 0.41585 8736.8 × 0.0001 = 0.87368

1582.5 × 0.0001 = 0.15825 4950.1 × 0.1 = 495.01

3848.4 × 0.001 = 3.8484 7805.3 × 0.001 = 7.8053

8119.3 × 0.0001 = 0.81193 2551.2 × 0.1 = 255.12

2061.2 × 0.0001 = 0.20612 9394.2 × 0.0001 = 0.93942

6196.1 × 0.0001 = 0.61961 7201.5 × 0.1 = 720.15

5315.5 × 0.1 = 531.55 2226 × 0.01 = 22.26

7380.9 × 0.1 = 738.09 5430.7 × 0.01 = 54.307

8979.2 × 0.1 = 897.92 2278.8 × 0.0001 = 0.22788
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